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Verbal Ability and Reading

Comprehension

As defined by the geographer Yi-Fu Tuan, topophilia is the affective bond between people and
place.His 1974 book set forth awide-ranging exploration of howthe emotive tieswith the
material environment vary greatly from person to person and in intensity, subtlety, and mode
of expression. Factors influencing one’s depth of response to the environment include cultural
background, gender, race, and historical circumstance, and Tuan also argued thatthere is a
biological and sensory element. Topophilia might not be the strongest of human emotions—
indeed, manypeoplefeelutterlyindifferenttowardthe environmentsthatshapetheirlives—
butwhen activatedithasthe power to elevate a place to become the carrier of emotionally
charged events or to be perceived as a symbol.

Aestheticappreciationisone way inwhich people respond to the environment. A brilliantly
colored rainbow after gloomy afternoon showers, a busy city street alive with human
interaction—one mightexperience the beauty of such landscapes thathad seemed quite
ordinary onlymoments before orthatare beingnewly discovered. Thisisquite the opposite of
asecondtopophilicbond,namelythatofthe acquiredtasteforcertainlandscapesandplaces
that one knows well. When a place is home, or when a space has become the locus of
memories or the means of gaining a livelihood, it frequently evokes a deeper set of
attachmentsthanthose predicated purely onthe visual. Athird response tothe environment
also depends on the human senses but may be tactile and olfactory, namely a delight in the feel
and smell of air, water, and the earth.

Topophilia—and its very close conceptual twin, sense of place—is an experience that, however
elusive, hasinspiredrecentarchitectsandplanners. Mostnotably, newurbanismseeksto
counterthe perceived placelessness of modern suburbs and the decline of central cities
through neo-traditional design motifs. Although motivated by good intentions, such attempts
tocreate placesrichin meaning are perhaps boundto disappoint. As Tuan noted, purely
aestheticresponses often are suddenly revealed, buttheirintensity rarely islonglasting.
Topophilia is difficult to design for and impossible to quantify, and its most articulate
interpreters have been self-reflective philosophers such as Henry David Thoreau, evoking a
marvelously intricate sense of place at Walden Pond, and Tuan, describing his deep affinity for
the desert.

Topophiliaconnotes a positive relationship, but it oftenis useful to explore the darker
affiliations between people and place. Patriotism, literally meaning the love of one’s terra
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patria or homeland, has long been cultivated by governing elites for a range of nationalist
projects, including war preparation and ethnic cleansing. Residents of upscale residential
developmentshavedisclosed howimportantitisto maintaintheircommunity’s distinct
identity, often by casting themselves in a superior social position and by reinforcing class and
racial differences. Andjustas abeloved landscape is suddenly revealed, sotoo may landscapes
offear castadarkshadowoveraplace thatmakes one feelasense ofdread oranxiety—or
topophaobia.

Q. 1: The word “topophobia” in the passage is used:

to represent a feeling of dread towards particular spaces and places.

to signify the fear of studying the complex discipline of topography.

as ametaphor expressing the failure of the homeland to accommodate non-citizens.
to signify feelings of fear or anxiety towards topophilic people.

el A

Q. 2: Which ofthe following statements, iftrue, could be seenas not contradicting the
arguments in the passage?

1. The mostimportant, even fundamental, response to our environment is our tactile and
olfactory response.

2. Generally speaking, in a given culture, the ties of the people to their environment vary
little in significance or intensity.

3. Patriotism, usually seen as a positive feeling, is presented by the author as a darker form
of topophilia.

4. New Urbanism succeeded inthose designs where architects collaborated with their
clients.

Q. 3: Inthe last paragraph, the author uses the example of “Residents of upscale residential
developments” to illustratethe:

1. introductionofnationalistprojectsbysuchelitestoproduceasenseofdreador
topophobia.

2. social exclusivism practised by suchresidents in orderto enforce a sense of racial or
class superiority.

3. manner inwhich environments are designed to minimise the social exclusion of their
clientele.

4. sensitiveresponsetorace and class problemsin upscale residential developments.
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Q. 4: Whichone ofthefollowing bestcapturesthe meaning ofthe statement, “Topophilia
is difficult to design for and impossible to quantify . . .”?

1. People’sresponsestotheir environment are usually subjective and so cannot be
rendered in design.
2. Thedeepanomie of modern urbanisation ledtonewurbanism’sintricate sense of place.
3. Architects have to objectively quantify spaces and hence cannot be topophilic.
4. Philosopher-architects are uniquely suited to develop topophilic design.

Q.5: Whichone ofthe following comesclosestinmeaningtothe author’'sunderstanding
of topophilia?

1. Thetendencyofmany culturestorepresenttheirlandas “motherland” or“fatherland”
may be seen as an expression of their topophilia

2. Nomadicsocietiesare knowntohavetheleastaffinity forthelandsthroughwhichthey
traverse because they tend to be topophobic.

3. The Frenchare not overly patriotic, but they will refuse to use English as far as possible,
even when they know it well.

4. Scientists have found that most creatures, including humans, are either born with or
cultivate a strong sense of topography.

"Free of the taint of manufacture” — that phrase, in particular, is heavily loaded with the
ideology of what the Victorian socialist William Morris called the "anti-scrape”, or an
anticapitalist conservationism (not conservatism) that solaced itself with the vision of a
preindustrial golden age. In Britain, folk may often appear a cosy, fossilised form, but when you
look more closely, the idea of folk —who has theright to sing it, dance it, invoket, collectit,
belongtoitorappropriateitfor political or culturalends—has always been contestedterritory.

Inour own time, though, the word "folk" . . . has achieved the rare distinction of occupying
fashionable and unfashionable status simultaneously. Just as the effusive floral prints of the
radical William Morris now cover genteel sofas, sothe revolutionaryintentions of manyfolk
historians and revivalists have led to music thatis commonly regarded as parochial and
conservative. And yet — as newspaper columns periodically rejoice — folk is hip again,
influencing artists, clothing and furniture designers, celebrated atmusicfestivals, awards
ceremoniesandon TV, reissuedoncountlessrecordlabels. Folkisasonic"shabbychic",
containing elements of the uncanny and eerie, as well as an antique veneer, a whiff of Britain's
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heathen dark ages. The very obscurity and anonymity of folk music's origins open up space for
rampant imaginative fancies. . . .

[Cecil Sharp, who wrote about this subject, believed that] folk songs existed in constant
transformation, alivingexample ofanartforminaperpetual state ofrenewal."Onemansings
asong, andthen otherssingitafter him, changing whatthey do notlike"isthe mostconcise
summaryofhisconclusionsonitsorigins. Hecomparedeachrenditionofaballadtoanacorn
falling from an oak tree; every subsequent iteration sows the song anew. But there is tension in
newness. Inthe late 1960s, purists were suspicious offolk songs recastinrockidioms.
Electrification, however, comes in many forms. For the early-20th-century composers such as
Vaughan Williams and Holst, there were thunderbolts of inspiration from oriental mysticism,
angular modernism and the body blow of the first world war, as well as input from the
rediscovered folk tradition itself.

Forthe second wave of folk revivalists, such as Ewan MacColland AL Lloyd, starting inthe 40s,
the vital sparkwas communism's dream of a post-revolutionary New Jerusalem. For their
youngersuccessorsinthe 60s, whothrongedthefolk clubs setupbythe oldguard,thelyrical
freedom of Dylan and the unchained melodies of psychedelia created the conditions for
folkrock'sowngoldenage, abriefindian summerthatlastedfromabout1969to 1971......Four
decades on, even that progressive period has become just one more era ripe for fashionable
emulation and pastiche. The idea of a folk tradition being exclusively confined to oral
transmission has become amuchlooser, less severely guarded concept. Recorded music and
television, for today's metropolitan generation, are where the equivalent of folk memories are
seeded. . ..

Q. 6: Allofthe following are causes for plurality and diversity within the British folk tradition
EXCEPT:

paradoxically, folk forms are both popular and unpopular.

that British folk continues to have traces of pagan influence from the dark ages.
that British folk forms can be traced to the remote past of the country.

the fluidity of folk forms owing to their history of oral mode of transmission.

M wbdhpeE

Q. 7: Whichofthefollowing statements aboutfolkrevivalismofthe 1940sand 1960s cannot
be inferred from the passage?

1. Eventhoughitled tofolk-rock’s golden age, it wasn’t entirely free from critique.
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Electrification of music would not have happened without the influence of rock music.
Freedomand rebellion were popular themes during the second wave of folk revivalism.
It reinforced Cecil Sharp’s observation about folk’s constant transformation.

Bk w

Q. 8: The author says that folk “may often appear a cosy, fossilised form” because:

it has been arrogated for various political and cultural purposes.
folk is a sonic “shabby chic” with an antique veneer.
the notion of folk has led to several debates and disagreements.
of its nostalgic association with a pre-industrial past.

M owbd R

: The primary purpose of the reference to William Morris and his floral prints is to show:

O
©

the pervasive influence of folk on contemporary art, culture, and fashion.
that what was once derided as genteel is now considered revolutionary.
thatwhatis once regarded as radical in folk, can later be seen as conformist.
that despite its archaic origins, folk continues to remain a popular tradition.

HowphE

Q. 10: Ataconference onfolkforms, the authorofthe passageisleastlikelytoagree
with which one of the following views?

1. Thepoweroffolkresidesinitscontradictoryabilitytoinfluence and beinfluenced by
the present while remaining rooted in the past.

2. Folkforms, despite their archaic origins, remain intellectually relevantin contemporary
times.

3. Folkforms,intheirabilityto constantlyadapttothe changingworld, exhibitan unusual
poise and homogeneity with each change.

4. The plurality and democratising impulse of folk forms emanate from the improvisation
that its practitioners bring to it.

Contemporaryinternetshoppingconjuresaperfectstormofchoiceanxiety. Researchhas
consistently held that people who are presented with a few options make better, easier
decisions than those presented with many ...... Helping consumers figure out what to buy amid
anendlessseaofchoice online hasbecome a cottage industry untoitself. Many brandsand
retailersnowwield marketingbuzzwords suchas curation, differentiation,anddiscovery as
they attempt to sellan assortment of stufftargeted to theirideal customer. Companies find
suchshoppersthroughthedatagold mine of digitaladvertising, which can catalog people by
gender, income level, personal interests, and more. Since Americans have lost the ability to sort
throughthe sheervolume ofthe consumer choices availabletothem,aghostnowhastobein
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theretailmachine,whetherit'sanalgorithm,aninfluencer,orsomesnazzyadtechtohelpa
product follow you around the internet. Indeed, choice fatigue is one reason so many people
gravitate toward lifestyle influencers on Instagram—the relentlessly chic young moms and
perpetually vacationing 20-somethings—who present an aspirational worldview, and then

recommend the products and services that help achieveit. . ..

Forarelativelynewclassofconsumer-productsstart-ups, there’sanothermethodentirely.
Instead of making sense of asea of existing stuff, these companies claimto disruptstuffas
Americans know it. Casper (mattresses), Glossier (makeup), Away (suitcases), and many others
have sprouted up to offer consumers freedom from choice: The companies have a few
aesthetically pleasing and supposedly highly functional options, usually at mid-range prices.
They’re selling nice things, but maybe more importantly, they’re selling a confidence in those
things, and an ability to opt out of the stuff rat race. . . .

One-thousand-dollar mattresses and $300 suitcases might solve choice anxiety for a certaintier
ofconsumer, butthe companies that sellthem, along withthose thatattemptto massage the
larger stuff economy into something navigable, are still just working within a consumer market
that’s brokenin systemicways. The presence of so much stuffin Americamight be more
valuableifitwere more evenly distributed, but stuff’s creators tendto focus their energy on
those who already have plenty. As options have expanded for people with disposable income,
the opportunity tobuy even basicthings suchasfreshfood or quality diapers has contracted
for much of America’s lower classes.

For start-ups that promise accessible simplicity, their very structure still might eventually push
them toward overwhelming variety. Most of these companies are based on hundreds of
millions of dollars of venture capital, the investors of whichtendto expect asteep growth rate
that can’t be achieved by selling one great mattress or one great sneaker. Casper has expanded
intobedroomfurnitureandbedlinens. Glossier, afteryears of marketingitselfasno-makeup
makeup that requires little skill to apply, recently launched a full line of glittering color
cosmetics. There may be no way to opt out of stuff by buying into the right thing.

Q. 11: Whichone ofthe following bestsumsupthe overall purpose ofthe examples of
Casper and Glossier in the passage?

1. They are facilitating a uniform distribution of commaodities in the market.
2. They might transform into what they were exceptions to.
3. They are exceptions to a dominant trend in consumer markets.
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4. They are increasing the purchasing power of poor Americans.

Q.12: Anewfoodbrandplanstolaunchaseriesof productsinthe American market. Which
of the following product plansis most likely to be supported by the author of the passage?

Arange of 25 products priced between $10 and $25.
Arange of 10 products priced between $5 and $10.
Arange of 10 products priced between $10 and $25.
A range of 25 products priced between $5 and $10.

A w DR

Q. 13: Based on the passage, all of the following can be inferred about consumer behavior
EXCEPT that:

1. too many options have made it difficult for consumers to trust products.

2. consumerstendto prefer products by start-ups over those by established companies.
3. having too many product options can be overwhelming for consumers.

4. consumers are susceptible to marketing images that they see on social media.

Q. 14: All of the following, IF TRUE, would weaken the author’s claims EXCEPT:

1. product options increased market competition, bringing down the prices of
commodities, which, inturn, increased purchasing power of the poor.

2. theannual salesgrowth of companieswithfewerproductoptionswere higherthanthat

of companies which curated their products for target consumers.

the empowerment felt by purchasers in buying a commodity were directly proportional

to the number of options they could choose from.

4. theannual sale of companies that hired lifestyle influencers on Instagram for marketing
their products were 40% less than those that did not.

w

Q. 15: Which ofthe following hypothetical statements would add the least depthtothe
author’s prediction of the fate of start-ups offering few product options?

1. With Casper and Glossier venturing into new product ranges, their regular customers
startlosing trust in the companies and their products.

2. Start-ups with few product options are no exception to the American consumer market
that is deeply divided along class lines.

3. Anexponential surge in their sales enables start-ups to meet their desired profit goals
without expanding their product catalogue.
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4. With the motive of promoting certain rival companies, the government decides to
double the tax-rates for these start-ups.

Inthe past, credit for telling the tale of Aladdin has often gone to Antoine Galland . . . the first
Europeantranslator of ... Arabian Nights [which] started as a series of translations of an
incomplete manuscriptofamedieval Arabicstorycollection... But,thoughthosetaleswere of
medieval origin, Aladdin may be a more recentinvention. Scholars have notfound a manuscript
ofthe storythatpredatesthe version publishedin 1712 by Galland, whowrotein hisdiary that
he first heard the tale from a Syrian storyteller from Aleppo named Hanna Diyab . ...

Despite the fantastical elements of the story, scholars nowthink the main character may
actually be based onareal person’s real experiences...... Though Galland nevercredited Diyab
in his published translations of the Arabian Nights stories, Diyab wrote something of his own: a
travelogue pennedinthemid-18thcentury.Init, herecallstelling Gallandthe story of Aladdin
[and] describes his own hard-knocks upbringing and the way he marveled at the extravagance
of Versailles. The descriptions he uses were very similar to the descriptions of the lavish palace
that ended up in Galland’s version of the Aladdin story. [Therefore, author Paulo Lemos] Horta
believesthat“Aladdinmightbe theyoungArabMaronitefromAleppo, marvelingatthejewels
andriches of Versailles.” . . .

For300years, scholarsthoughtthatthe rags-to-riches story of Aladdin might have been
inspired by the plots of Frenchfairy talesthat came out around the same time, orthat the story
wasinventedinthat 18th century period asabyproductof French Orientalism, afascination
with stereotypical exotic Middle Easternluxuriesthatwas prevalentthen. Theideathat Diyab
mighthave basediton his ownlife—the experiences ofaMiddle Easternmanencountering
theFrench, notvice-versa—flipsthe script. [AccordingtoHorta,] “Diyabwasideally placedto
embody the overlapping world of Eastand West, blending the storytelling traditions of his
homeland with his youthful observations of the wonder of 18th-century France.”. ..

Tothescholarswho studythetale, its narrative dramaisn’tthe onlyreason storytellerskeep
findingreasontoreturnto Aladdin. Itreflects notonly “a history of the French and the Middle
East, butalso[astory about] Middle Easterners coming to Parisandthat speaksto ourworld
today,” as Horta putsit. “The day Diyab told the story of Aladdin to Galland, there were riots
duetofoodshortagesduringthewinterandspringof1708to 1709, and Diyabwassensitiveto
those peopleinawaythat Gallandis not. Whenyouread this diary, you see this solidarity
amongthe ArabswhowereinParisatthetime. .... Thereislittlein the writings of Galland that
would suggest that he was capable of developing a character like Aladdin with sympathy, but
Diyab’smemoirrevealsanarratoradeptatcapturingthedistinctive psychology ofayoung
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protagonist, as well as recognizing the kinds of injustices and opportunities that can transform
the path of any youthful adventurer.”

Q. 16: Whichofthefollowingdoesnotcontributetothe passage’s claimaboutthe
authorship of Aladdin?

The depiction of the affluence of Versailles in Diyab’s travelogue.
The narrative sensibility of Diyab’s travelogue.

The story-line of many French fairy tales of the 18th century.
Galland’s acknowledgment of Diyab in his diary.

M ow R

Q. 17: The authorofthe passage is mostlikely toagree withwhich ofthe
following explanations for the origins of the story of Aladdin?

1. Basing it on his own life experiences, Diyab transmitted the story of Aladdin to Galland
who included it in Arabian Nights.

2. Gallandreceivedthestory of AladdinfromDiyabwho, inturn,founditinanincomplete
medieval manuscript.

3. The story of Aladdin has its origins in an undiscovered, incomplete manuscript of a
medieval Arabic collection of stories.

4. Galland derived the story of Aladdin from Diyab’s travelogue in which he recounts his
fascination with the wealth of Versailles.

Q. 18: Which ofthe followingisthe primary reason forwhy storytellers are still fascinated by
the story of Aladdin?

The story of Aladdinis evidence of the eighteenth century French Orientalist attitude.
The traveller's experience thatinspired the tale of Aladdin resonates even today.
The tale of Aladdin documents the history of Europe and Middle East.

The archetype of the rags-to-riches story of Aladdin makes it popular eventoday.

Mo e

Q. 19: Allofthefollowing serve asevidence forthe characterof Aladdinbeingbasedon
Hanna Diyab EXCEPT:

1. Diyab’s cosmopolitanism and cross-cultural experience.

2. Diyab’s humble origins and class struggles, as recounted in his travelogue.
3. Diyab’s narration of the original story to Galland.

4. Diyab’s description of the wealth of Versailles in his travelogue.
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Q. 20: Which ofthe following, iftrue, would invalidate the inversion that the phrase “flips the
script” refers to?

1. Galland acknowledged inthe published translations of Arabian Nights that he heard the
story of Aladdin from Diyab.

2. Diyab’stravelogue described the affluence ofthe French city of Bordeaux, instead of
Versalilles.

3. The French fairy tales of the eighteenth century did not have rags-to-riches plot lines
like that of the tale of Aladdin.

4. Thedescription of opulence in Hanna Diyab’s and Antoine Galland’s narratives bore no
resemblance to eachother.

Scientists recently discovered that Emperor Penguins—one of Antarctica’s most celebrated
species—employ a particularly unusual technique for surviving the daily chill. As detailed inan
article published today in the journal Biology Letters, the birds minimize heat loss by keeping
the outer surface oftheir plumage belowthe temperature ofthe surrounding air. Atthe same
time, the penguins’ thick plumage insulates their body and keepsittoasty. . . .

Theresearchersanalyzedthermographicimages.....taken over roughly a month during June
2008. Duringthatperiod, the average airtemperature was 0.32 degrees Fahrenheit. Atthe
sametime, the majority ofthe plumage coveringthe penguins’ bodieswas even colder: the
surface of their warmest body part, their feet, was an average 1.76 degrees Fahrenheit, but the
plumageontheirheads,chestsandbackswere-1.84,-7.24and-9.76 degrees Fahrenheit
respectively. Overall, nearly the entire outer surface of the penguins’ bodies was below freezing
atalltimes, exceptfortheireyesandbeaks. The scientistsalsoused acomputer simulationto
determine howmuch heatwas lostorgained fromeach partofthe body—anddiscoveredthat
by keepingtheirouter surface belowairtemperature, the birdsmight paradoxically be able to
draw very slight amounts of heat from the air around them. The key to their trick is the
difference between two different types of heat transfer: radiation and convection.

Thepenguinsdoloseinternalbodyheattothe surrounding airthroughthermalradiation, just
asourbodiesdoonacoldday. Becausetheirbodies (butnotsurface plumage) are warmer
thanthe surrounding air, heatgradually radiates outward over time, moving fromawarmer
materialto acolderone. To maintain body temperature while losing heat, penguins, like all
warm-blooded animals, rely on the metabolism of food. The penguins, though, have an
additional strategy. Since their outer plumage is even colder than the air, the simulation
showedthatthey mightgainbackalittle ofthisheatthroughthermal convection—the transfer
ofheatviathe movementofafluid (inthiscase,theair). Asthe cold Antarcticair cyclesaround
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their bodies, slightly warmer air comes into contact with the plumage and donates minute
amountsofheatbacktothe penguins,thencyclesawayataslightly coldertemperature.

Mostofthis heat, the researchers note, probably doesn’t make it all the way through the
plumage andbacktothe penguins’bodies, butitcould make aslightdifference. Atthe very
least, the method by which apenguin’s plumage wicks heatfromthe bitterly cold air that
surroundsithelpstocanceloutsome ofthe heatthat’s radiating fromitsinterior. And given
the Emperors’ unusually demanding breeding cycle, every bit of warmth counts....... Since
[penguinstrekasfaras 75 milestothe coasttobreedandmale penguins]don’teatanything
during[theincubation period of 64 days], conserving calories by giving up aslittle heatas
possible is absolutely crucial.

Q. 21: Inthelastsentence of paragraph 3, “slightly warmer air’and “ata slightly
colder temperature” refer to_ AND respectively:

1. theairinside penguins’ bodies kept warm because of metabolism of food AND the fall in
temperature of the body air after it transfers some heat to the plumage.

2. thecoldAntarcticairwhosetemperatureishigherthanthatofthe plumage ANDthefall
intemperature of the Antarctic air after it has transmitted some heatto the plumage.

3. theairtrappedinthe plumage whichiswarmerthanthe Antarcticair AND the fallin
temperature of the trapped plumage air after it radiates out some heat.

4. the cold Antarctic air which becomes warmer because of the heat radiated out from
penguins’ bodies AND the fallintemperature ofthe surrounding air afterthermal
convection.

Q. 22: Whichofthefollowingbestexplainsthe purpose ofthe word “paradoxically” asused
by the author?

Keeping a part of their body colder helps penguins keep their bodies warmer.
Heat loss through radiation happens despite the heat gain through convection.
Keeping their body colder helps penguins keep their plumage warmer.

Heat gain through radiation happens despite the heatloss through convection.

M ow e

Q. 23: Which of the following can be responsible for Emperor Penguins losing body heat?

1. Reproduction process.
2. Thermal convection.
3. Food metabolism.

Online CAT Course: https://www.courses.catking.in/cat-courses/



https://www.courses.catking.in/cat-courses/

CAT 2019 Question Paper Slot 1

4. Plumage.

Q. 24: Allofthe following, if true, would negate the findings of the study reportedin the
passage EXCEPT:

1. theaverageairtemperaturerecordedduringthe monthofJune 2008inthe areaof
study were —10 degrees Fahrenheit.

2. theaveragetemperature ofthefeetofpenguinsinthe monthofJune 2008 werefound
to be 2.76 degrees Fahrenheit.

3. thetemperature of the plumage onthe penguins’ heads, chests and backs were found
to be 1.84, 7.24 and 9.76 degrees Fahrenheit respectively.

4. thepenguins’plumage were made ofamaterialthatdid notallowany heattransfer
through convection orradiation.

Q. 25: Thefoursentences(labelled 1, 2, 3,4) givenbelow, when properly sequencedwould
yield a coherent paragraph. Decide onthe proper sequence of the order of the sentences and
key in the sequence of the four numbers as your answer.

1. People with dyslexia have difficulty with print-reading, and people with autism spectrum
disorder have difficulty with mind-reading.

2. An example of a lost cognitive instinct is mind-reading: our capacity to think of ourselves and
others as having beliefs, desires, thoughts and feelings.

3. Mind-reading looks increasingly like literacy, a skill we know for sure is not in our genes, since
scripts have been around for only 5,000-6,000 years.

4. Print-reading, like mind-reading varies across cultures, depends heavily on certain parts of
the brain, and is subject to developmental disorders.

Q. 26: Thefoursentences(labelled 1, 2, 3,4) givenbelow, when properly sequencedwould
yield a coherent paragraph. Decide onthe proper sequence of the order of the sentences and
key in the sequence of the four numbers as your answer.

1. Metaphors may map to similar meanings across languages, buttheir subtle differences can
have a profound effect on our understanding of the world.
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2. Latinscholarspointoutcarpediemisahorticultural metaphorthat, particularly seeninthe
context of its source, is more accurately translated as “plucking the day,” evoking the plucking
and gathering of ripening fruits or flowers, enjoying a momentthatis rooted in the sensory
experience of nature, unrelated to the force implied in seizing.

3. The phrase carpe diem, which is often translated as “seize the day and its accompanying
philosophy, has gone on to inspire countless people in how they live their lives and motivates
us to see the world a little differently from the norm

4. It'sanexample of one ofthe more tellingwaysthatwe mistranslate metaphorsfromone
language to another, revealing in the process our hidden assumptions about what we really
value.

Q. 27: Five sentences relatedto atopic are given below. Four ofthemcan be puttogetherto
form a meaningful and coherent short paragraph. Identify the odd one out. Choose its number
as your answer and key itin.

1. Oneargumentisthatactorsthatdonotfitwithinasingle, well-defined category may suffer
an “illegitimacy discount”.

2. Others believe that complex identities confuse audiences about an organization’s role or
purpose.

3. Some organizations have complex and multidimensional identities that span or combine
categories, while other organizations possess narrow identities.

4. ldentityisone ofthe mostimportantfeatures oforganizations, butthere existopposing
views among sociologists about how identity affects organizational performance.

5. Those who think that complex identities are beneficial point to the strategic advantages of
ambiguity, and organizations’ potential to differentiate themselves from competitors.
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Q. 28: Thefoursentences (labelled 1, 2, 3,4) givenbelow, when properly sequencedwould
yield a coherent paragraph. Decide on the proper sequence of the order of the sentences and
key in the sequence of the four numbers as your answer.

1. Ifyou’ve seenalittle line oftexton websitesthatsays somethinglike "customerswho
bought this also enjoyed that” you have experienced this collaborative filtering firsthand.

2. Theproblemwiththesealgorithmsisthattheydon’ttakeintoaccountahostofnuancesand
circumstances that might interfere with their accuracy.

3. Ifyoujustboughtagardening book foryour cousin, you mightgeta flurry of links to books
aboutgardening,recommendedjustforyou! —thealgorithmhasnoway ofknowingyou hate
gardening and only bought the book as a gift.

4. Collaborative filtering is a mathematical algorithm by which correlations and cooccurrences
of behaviors are tracked and then used to make recommendations.

Q. 29: Thefoursentences (labelled 1,2, 3,4) given below, when properly sequencedwould
yield a coherent paragraph. Decide onthe proper sequence ofthe order of the sentences and
key in the sequence of the four numbers as your answer.

1. We'll all live under mob rule until then, which doesn’t help anyone.

2. Perhaps we need to learn to condense the feedback we receive online so that 100 replies
carry the same weight as just one.

3. As we grow more comfortable with social media conversations being part of the way we
interact every day, we are going to have tolearn howto deal with legitimate criticism.

4. Anewnormwillarisewhereitis considered unacceptable to reply withthe same pointthat
dozens of others have already.
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Q. 30: The passage given below is followed by four alternate summaries. Choose the option
that best captures the essence of the passage.

A distinguishing feature of language is our ability to refer to absent things, known as displaced
reference. A speaker can bring distant referents to mind in the absence of any obvious stimuli.
Thoughts, notlimitedtothe hereand now, can popintoourheadsforunfathomable reasons.
This abilitytothink about distant things necessarily precedesthe ability to talkaboutthem.
Thought precedes meaningful referential communication. A prerequisite for the emergence of
human-like meaningful symbolsisthatthe mental categoriestheyrelate to can beinvoked
even in the absence of immediate stimuli.

1. Thoughts are essential to communication and only humans have the ability to think
about objects not present in their surroundings.

2. Theabilitytothinkaboutobjectsnotpresentinourenvironmentprecedesthe
development of humancommunication.

3. Displaced reference is particular to humans and thoughts pop into our heads for no real
reason.

4. Thoughts precede all speech acts and these thoughts pop up in our heads even inthe
absence of anystimulus.

Q. 31: The passage given below is followed by four alternate summaries. Choose the option
that best captures the essence of the passage.

Physicsisapuresciencethatseekstounderstand the behaviour of matterwithoutregard to
whetheritwillafford any practical benefit. Engineeringisthe correlative applied sciencein
which physicaltheories are putto some specificuse, suchas building abridge oranuclear
reactor. Engineersobviouslyrely heavily onthediscoveries of physicists, butanengineer's
knowledge ofthe worldis notthe same asthe physicist's knowledge. Infact, anengineer's
know-how will often depend on physical theoriesthat, fromthe point of view of pure physics,
are false. There are some reasons for this. First, theories that are false in the purestand
strictestsenseare stillsometimes verygoodapproximationstothe true ones,and oftenhave
theaddedvirtueofbeingmucheasiertoworkwith. Second, sometimesthetruetheoriesapply
only under highly idealized conditions which can only be created under controlled experimental
situations. Theengineerfindsthatintherealworld, theoriesrejected by physicistsyield more
accurate predictions than the ones that they accept.
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1.

The relationship between pure and applied science is strictly linear, with the pure
science directing applied science, and never the other way round.

Though engineering draws heavily from pure science, it contributes to knowledge, by
incorporating the constraints and conditions in the real world.

The unique task of the engineer is to identify, understand, and interpret the design
constraints to produce a successful result.

Engineering and physics fundamentally differ on matters like building a bridge or a
nuclear reactor.

Q. 32: The passage given below is followed by four alternate summaries. Choose the option
that best captures the essence of the passage.

Vance Packard’s The Hidden Persuaders alerted the public to the psychoanalytical techniques
usedbytheadvertisingindustry. Its premise was thatadvertisingagencieswere usingdepth
interviews to identify hidden consumer motivations, which were then used to entice consumers
tobuygoods. Criticsand reporters oftenwrongly assumed that Packard was writing mainly
aboutsubliminal advertising. Packard never mentioned the word subliminal, however, and
devotedverylittle spacetodiscussionsof“subthreshold” effects. Instead, hisviewslargely
aligned with the notion that individuals do not always have access to their conscious thoughts
and can be persuaded by supraliminal messages without their knowledge.

1.

Packardarguedthatadvertising asa ‘hidden persuasion’ understandsthe hidden
motivations of consumers and works at the subliminal level, onthe subconscious level
of the awareness of the people targeted.

Packard argued that advertising as a ‘hidden persuasion’ works at the supraliminal level,
whereinthe peopletargeted are aware of being persuaded, afterunderstanding the
hidden motivations of consumers and works.

Packard held that advertising as a ‘hidden persuasion’ builds on peoples’ conscious
thoughts and awareness, by understanding the hidden motivations of consumers and
works at the subliminal level.

Packard held that advertising as a ‘hidden persuasion’ understands the hidden
motivations of consumers and works at the supraliminal level, though the people
targeted have no awareness of being persuaded.
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Q. 33: Five sentences relatedto atopic are given below. Four ofthemcan be puttogetherto
form a meaningful and coherent short paragraph. Identify the odd one out. Choose its number
as your answer and key itin.

1. Hisideato use sign language was not a completely newidea as Native Americans used hand
gestures to communicate with other tribes.

2. Ancient Greek philosopher Aristotle, for example, observed that men who are deaf are
incapable of speech.

3. Peoplewhowere born deafwere deniedthe rightto signawillastheywere “presumedto
understand nothing; becauseitis notpossible thatthey have beenabletolearntoreador
write.”

4. Pushback againstthis prejudice beganinthe 16th century when Pedro Ponce de Leon
created a formal sign language for the hearing impaired.

5. For millennia, people with hearing impairments encountered marginalization because it was
believed thatlanguage could only be learned by hearing the spoken word.

Q. 34: Five sentencesrelatedtoatopicaregivenbelowinajumbled order. Fourofthemform
a coherentand unified paragraph. Identify the odd sentence thatdoes notgowith the four.
Key in the number of the option that you choose.

1. ‘Stat’ signaled something measurable, while ‘matic’ advertised free labour; but ‘tron’, above
all, indicated control.

2. Itwasatotemofhighmodernism, the intellectualand culturalmode thatdecreed no
processor phenomenonwastoocomplexto be grasped, managed and optimized.

3. Like the heraldic shields of ancient knights, these morphemes were painted onto the names
of scientific technologies to proclaim one’s history and achievements to friends and enemies
alike.

4. The historian Robert Proctor at Stanford University calls the suffix ‘~tron’, along with ‘-matic’
and ‘-stat’, embodied symbols.
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5. Togainthesuffixwastoacquire aproudandoptimisticemblemofthe electronicandatomic
age.
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Logical Reasoning and Data

Interpretation

The following table represents addition of two six-digit numbers givenin the firstand the
secondrows, whilethe sumisgiveninthethirdrow. Intherepresentation, each ofthe digits O,
1,2,3,4,5,6,7,8,9 hasbeencodedwithoneletteramongA, B, C,D, E, F, G,H, J, K, with
distinct letters representing distinct digits.

B H A A G F
+ A H ) F K

Q. 35: Whichdigitdoestheletter Arepresent?

Q. 36: Whichdigitdoestheletter Brepresent?

Q. 37: Whichamongthedigits 3,4,6and 7 cannotbe represented by the letter D?

Q. 38: Whichamongthedigits4,6, 7 and 8 cannotberepresented bytheletter G?

Online CAT Course: https://www.courses.catking.in/cat-courses/



https://www.courses.catking.in/cat-courses/

CAT 2019 Question Paper Slot 1

Princess, Queen, Rani and Samragniwere the four finalists in a dance competition. Ashman,
Badal, Gagan and Dyu were the four music composers who individually assigned items to the
dancers. Each dancer had to individually perform in two dance items assigned by the different
composers. The firstitems performed by the four dancers were all assigned by different music
composers. No dancer performed her second item before the performance of the first item by
anyotherdancers. Thedancersperformedtheirseconditemsinthe same sequence oftheir
performance of their first items.

The following additional facts are known.

i.  Nocomposer who assigned itemto Princess, assigned any item to Queen.
ii.  Nocomposerwho assigneditemto Rani, assigned any itemto Samragni.
iii.  Thefirst performance was by Princess; this item was assigned by Badal.
iv.  Thelast performance was by Rani; this item was assigned by Gagan.
v. TheitemsassignedbyAshmanwere performed consecutively. The number of
performances between items assigned by each of the remaining composers was the
same.

Q. 39: Which of the following is true?

1. The second performance was composed by Dyu.

2. The third performance was composed by Ashman.
3. The second performance was composed by Gagan.
4. The third performance was composed by Dyu.

Q. 40: Which of the following is FALSE?

1. Queendid not perform in any item composed by Gagan.

2. Ranidid not perform in any item composed by Badal.

3. Samragni did not perform in any item composed by Ashman.
4. Princess did not perform in any item composed by Dyu.

Q. 41: The sixth performance was composed by:

Gagan
Ashman
Badal
Dyu

Mo Re
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Q. 42: Which pair of performances were composed by the same composer?

The first and the sixth
The second andthe sixth
The first and the seventh
The third and the seventh

Mo

Fivevendorsarebeing consideredforaservice. The evaluationcommittee evaluated each
vendoronsixaspects—Cost, Customer Service, Features, Quality, Reach, and Reliability. Each
of these evaluations are on a scale of 0 (worst) to 100 (perfect). The evaluation scores on these
aspects are showninthe radar chart. For example, Vendor 1 obtains a score of 52 on Reliability,
Vendor 2 obtains ascore of 45 on Features and Vendor 3 obtains ascore of 90 on Cost.

Vendor1l === Vendor 2 Vendor 3 Vendor4 - - -=Vendor5

Reliability

Customer Service Quality

Q. 43: On which aspect is the median score of the five vendors the least?

1. Customer Service
2. Reliability

3. Cost

4. Quality
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Q. 44: Avendor'sfinal score is the average of their scores on all six aspects. Which vendor has
the highest finalscore?

Vendor1
Vendor 2
Vendor4
Vendor3

Mo

Q. 45: Listofallthe vendors who are among the top two scorers on the maximumnumber of
aspects is:

Vendor 1 and Vendor 5

Vendor 2, Vendor 3 and Vendor 4
Vendor 2 and Vendor 5

Vendor 1 and Vendor 2

Howbd e

Q. 46: List of all the vendors who are among the top three vendors on all six aspects is:

Vendor 1

Vendor 1 and Vendor 3
Vendor 3

None of theVendors

> wbdhpe

Six players — Tanzi, Umeza, Wangdu, Xyla, Yonita and Zeneca competed in an archery
tournament. The tournament had three compulsory rounds, Rounds 1to 3. In each round every
player shotanarrow atatarget. Hitting the centre of the target(called bull’s eye) fetched the
highest score of 5. The only other possible scores that a player could achieve were 4, 3,2 and 1.
Everybull’'seyescoreinthefirstthreerounds gave aplayer one additional chance to shootin
thebonusrounds,Rounds4to6. The possible scoresinRounds4to6wereidentical tothefirst
three.

Aplayer’stotal score inthe tournamentwas the sumofhis/herscoresinallrounds played by
him/her. The table below presents partial information on points scored by the players after
completion ofthe tournament. Inthe table, NP meansthatthe playerdid not participate inthat
round, while a hyphen means that the player participated in that round and the score
information is missing.
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Round-1 Round-2 Round-3 Round-4 Round-5 Round-6
Tanzi - 4 5 NP NP
Umeza - 1 2 NP
Wangdu - 4 NP NP NP
Xyla 1 5 -
Yonita - - 3 5 NP NP
Zeneca 9 5 NP

The following facts are also known.

ok~ w NP

Q. 47: What was the highest total score?

1. 24
2. 21
3. 25
4. 23

Q. 48: What was Zeneca's total score?

1. 22
2. 23
3. 21
4. 24

Q. 49: Which of the following statements is true?

Zeneca’s score was 23.
Xyla was the highest scorer.

M wnn e

Xyla’s score was 23.

Q. 50: What was Tanzi's score in Round 3?

1. 4
2. 3

Zeneca was the highest scorer.

Tanzi, Umeza and Yonita had the same total score.
Total scores for all players, except one, were in multiples of three.

The highest total score was one more than double of the lowest total score.

The number of players hitting bull’s eye in Round 2 was double of thatin Round 3.
Tanzi and Zeneca had the same score in Round 1 but different scoresin Round 3.
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3.
4.

1
5

Thefigure belowshowsthe streetmapforacertainregionwiththe streetintersections marked
fromathroughl. Aperson standing atanintersection can see along straightlines to other
intersectionsthatare inherline of sightand all other people standing atthese intersections.
For example, a person standing atintersection g can see all people standing at intersections b,
c, e, f, h,andk. In particular, the person standing at intersection g can see the person standing
atintersection e irrespective of whether there is a person standing atintersectionf.

—— T et S —

—3-—@ — iy — ) —

— ) —) — — —

Six people U, V, W, X, Y, and Z, are standing at different intersections. No two people are
standing at the same intersection.

The following additional facts are known.

o gk v

M owbdE

X,U,and Zare standing atthe three corners ofatriangle formed by three street
segments.

X cansee onlyUand Z.

Y can see only Uand W.

U sees V standing in the next intersection behind Z.

W cannot see V or Z.

No one among the six is standing at intersection d.

: Who is standing at intersection a?

No one
Y
W
Y
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Q. 52: Who can V see?

U only

U, W and Z only
U and Zonly
Zonly

Mo

Q. 53: What is the minimum number of street segments that X must cross to reach Y?

WP
AR wN

Q. 54: Should a new person stand at intersection d, who among the six would she see?

Uand Zonly
Vand X only
W and X only
UandWonly

M owbpd R
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The Ministry of Home Affairs is analysing crimes committed by foreigners in different states and
unionterritories (UT) ofIndia. Allcasesrefertothe onesregistered againstforeignersin2016.

The number of cases —classifiedintothree categories: IPC crimes, SLL crimes and other crimes
— for nine states/UTs are shown in the figure below. These nine belong to the top ten
states/UTs in terms of the total number of cases registered. The remaining state (among top
ten)is West Bengal, where all the 520 cases registered were SLL crimes.

Telangana SEEENNNNNNNN || ||

Puducherry  F1IIITIEIEEIERIENN
Kerala FEu— 11111}
Haryana JEEE—— | (]

Maharashtra

Tamil Nadu N |11 VLD EECOR TR

ML

JUTHH T

Goa

Karnataka

(EEITREEERRREFORRRRFERREE R

Delhi

50 60 70 80 S0 100 110 120 130 140 150

o
o
N
o
w
C

H
C

@ |PCcrimes  MSLL crimes Il Other Crimes

The table below shows the ranks of the ten states/UTs mentioned above among ALL states/UTs
of Indiainterms ofthe number of casesregistered in each ofthe three category of crimes. A
state/UTisgivenrankrforacategory ofcrimesifthereare (ré€- 1) states/UTshavingalarger
number of cases registered in that category of crimes. For example, if two states have the same
number of cases in acategory, and exactly three other states/UTs have larger numbers of cases
registeredinthe same category,thenboththe statesare givenrank4inthatcategory. Missing
ranks in the table are denoted by *.
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IPC crimes SLL crimes Other Crimes
Delhi . . .
Goa s 4 ’
Haryana 8 6 *
Karnataka 3 2 "
Kerala . 9 .
Maharashtra 3 4 8
Puducherry 13 29 y
Tamil Nadu 11 7 "
Telangana 6 9 8
West Bengal 17 e 16

Q. 55: What is the rank of Kerala in the ‘IPC crimes’ category?

Q. 56: Inthetwo stateswhere the highesttotal number of cases areregistered, the ratio of
the total number of cases in IPC crimes to the total numberin SLL crimes is closest to

1.1:9
2.11:10
3.3:2
4,19:20

Q. 57: Which of the following is DEFINITELY true about the ranks of states/UT in the ‘other
crimes’ category?

i) Tamil Nadu: 2
i) Puducherry: 3

both i) andii)
neitheri) , norii)
only ii)

only i)

Mo
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Q. 58: What is the sum of the ranks of Delhi in the three categories of crimes?

Anewgame showon TV has 100boxesnumbered1,2,...,100inarow, each containinga
mystery prize. The prizesareitems of differenttypes, a, b, c, ..., indecreasing order ofvalue.
Themostexpensiveitemisoftypea,adiamondring,andthereisexactlyoneofthese. Youare
toldthatthe number ofitemsatleastdoubles as youmovetothe nexttype. Forexample,there
would be atleasttwice as many items of type b as of type a, atleast twice as many items of
type casoftypebandsoon. Thereisno particular orderinwhichthe prizes are placedinthe

boxes.

Q. 59: What is the minimum possible number of different types of prizes?

Q. 60: What is the maximum possible number of different types of prizes?

Q. 61: Which of the following is not possible?

There are exactly 30 items of type b.
There are exactly 45 items of type c.
There are exactly 75 items of type e.
There are exactly 60 items of type d.

M owbnhe

Q. 62: You ask for the type ofitemin box 45. Instead of being given a direct answer, you
are told that there are 31 items of the same type as box 45 in boxes 1 to 44 and 43 items

ofthe same type as box 45 in boxes 46 to 100.

What is the maximum possible number of different types of items?

1. 6
2. 3
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4. 4
Asupermarkethastoplace 12items(coded AtoL)inshelvesnumbered 1to0 16. Five ofthese
itemsaretypesofbiscuits,threearetypesofcandiesandtherestaretypesofsavouries. Only
oneitemcan be keptinashelf. tems are to be placed such that allitems of same type are
clusteredtogetherwithno empty shelfbetween items ofthe same type and atleastone empty

shelfbetweentwodifferenttypes ofitems. Atmosttwo empty shelves canhave consecutive
numbers.

The following additional facts are known.

1. AandBareto be placed in consecutively numbered shelvesinincreasing order

2. landJareto be placed in consecutively numbered shelves both higher numbered than
the shelves in which A and B are kept.

3. D,EandFare savouries and are to be placed in consecutively numbered shelvesin

increasing order after all the biscuits and candies.

Kis to be placed in shelf number 16.

L and J are items of the same type, while H is an item of a different type.

Cisacandyandisto be placed in a shelf preceded by two empty shelves.

L isto be placed in a shelf preceded by exactly one empty shelf.

N oo gk

Q. 63: In how many different ways can the items be arranged on the shelves?

= B~ 0ODN

Q. 64: Which of the following items is not a type of biscuit?

> oo
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Q. 65: Whichofthefollowingcanrepresentthe numbers oftheemptyshelvesina
possible arrangement?

1.1,7,11,12
2.1,5,6,12
3.1,2,6,12
4.1,2,8,12

Q. 66: Which of the following statements is necessarily true?

There are two empty shelves between the biscuits and the candies.
All biscuits are kept before candies.

There are at least four shelves between items

All candies are kept before biscuits.

HwbdE
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Quantitative Ability

Q. 67: If m and n are integers such tifiat ( 2)193%429mg" = 336" ( * 64) then m is

—20
~12
—24
16

PN P

Q. 68: Theincome of Amalais20% morethanthatofBimalaand20%lessthanthatof
Kamala. IfKamala'sincome goesdownby4%andBimala'sgoesupby10%,thenthe
percentage by which Kamala's income would exceed Bimala's is nearest to

31
28
32
29

PonNE

Q. 69: Inaclass, 60% ofthe students are girlsandthe restare boys. There are 30 more girls
than boys. If 68% of the students, including 30 boys, pass an examination, the percentage of the
girls who do not pass is

Q.70: Onsellingapenat5%lossandabookat15%gain,KarimgainsRs.7.Ifhesellsthe
pen at5% gainandthe bookat10%gain, he gains Rs. 13. Whatisthe cost price ofthe
bookin Rupees?

80
85
95
100

PobdPR

Q. 71: Cornersare cutofffromanequilateraltriangle TtoproducearegularhexagonH.
Then, the ratio of the area of H to the area of T is

1.5:6
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2. 4:5
3. 3:4
4. 2:3

Q. 72: Let Sbethe setofall points (x, y) inthe x-y plane suchthat | x| + |y |<2and | x| = 1.
Then, the area, in square units, of the region represented by S equals

Q. 73: Ramesh and Gautamare among 22 students who write an examination. Ramesh scores
82.5.Theaverage score ofthe 21 students otherthan Gautamis62. Theaverage score ofall

the 22 students is one more than the average score of the 21 students other than Ramesh. The
score of Gautamis

49
48
51
53

Hwbn PR

Q. 74: At their usual efficiency levels, A and B together finish a task in 12 days. If A had
worked half as efficiently as she usually does, and B had worked thrice as efficiently as he
usually does, thetaskwould have been completedin 9 days. How many days would Ataketo
finishthetask if she works alone at her usual efficiency?

24
18
12
36

PR

Q.75:Ifa,a,,... areinA.P., !

1
—_— 4
then, \/a_ﬁ\/g

+ 1 is equal to

n-1

1.
2.
Ja e
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n-1

a, +.Ja,
4 n
\/a_l_*\,aml

Q.76: Inacircleofradius11cm,CDisadiameterand ABisachord oflength20.5cm. IfAB
and CDintersectatapoint Einside the circle and CE haslength 7 cm, then the difference of
the lengths of BE and AE, incm, is

3.

2.5
3.5
0.5
15

HwnN e

Q. 77: Withrectangularaxes ofcoordinates, thenumberofpathsfrom(1,1)to(8,10)via
(4,6), where each step from any point (x, y) is either to (x, y+1) orto (x+1,y), is

Q. 78: Amala, Bina, and Gouriinvestmoney inthe ratio 3 : 4: 5infixed deposits having
respective annualinterestratesintheratio 6:5:4.Whatistheirtotal interestincome (in Rs)
after ayear, if Bina's interest income exceeds Amala's by Rs 2507?

1. 6350
2. 7250
3. 7000
4. 6000

Q.79: Aclubhas256 membersofwhom 144 canplayfootball, 123 canplaytennis,and 132
can playcricket. Moreover, 58 members canplay bothfootballandtennis, 25canplayboth
cricket andtennis, while 63 can play both football and cricket. Ifevery member can play at
leastone game, then the number of members who can play only tennis is

45
38
32
43

»pwbdhpRE
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Q. 80: LetT bethetriangleformed by the straightline 3x+ 5y -45=0andthe coordinate
axes. Letthecircumcircle of ThaveradiusoflengthL, measuredinthe same unitasthe
coordinate axes. Then, the integer closestto L is

Q.81: Threemenandeightmachinescanfinishajobinhalfthetimetakenbythree
machines and eightmentofinishthe same job. Iftwo machines canfinishthejobin 13
days, thenhow many men can finish the job in 13 days?

Q. 82: Two cars travel the same distance starting at 10:00 am and 11:00 am, respectively,
on the same day. Theyreachtheircommon destination atthe same pointoftime. Ifthe first
car travelled for at least 6 hours, then the highest possible value of the percentage by
whichthe speed of the second car could exceed that of the first car is

30
25
10
20

PN PR

Q. 83: If (5.55)" = (0.555)" = then the value of 1 —_1 IS

1000, Xy

wl vNwl r P W

Q. 84: The product of the distinct roots ‘xz —-X—-6=x+2is
of

ronh P
|
N
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Q. 85: The wheels of bicycles A and B have radii 30 cm and 40 cm, respectively. While
traveling acertaindistance, eachwheel of Arequired 5000 more revolutions thaneach
wheel of B. If bicycle B traveled this distance in 45 minutes, thenits speed, in km per hour,
was

187

127

167

14r

»wbn e

Q. 86: ABis adiameter of a circle of radius 5 cm. Let P and Q be two points on the circle so
that the length of PBis 6 cm, and the length of AP is twice that of AQ. Then the length, incm,
of QB is nearestto

7.8
8.5
9.1
9.3

»wbnh e

Q. 87: Forany positive integer n, letf(n) =n(n+ 1) ifniseven, and f(n) =n+ 3ifnis odd. Ifm
is a positive integer such that 8f(m + 1) - f(m) = 2, then m equals

Q. 88: Achemist mixestwo liquids 1 and 2. One litre of liquid 1 weighs 1 kg and one litre of
liquid 2weighs 800 gm. If halflitre of the mixture weighs 480 gm, then the percentage ofliquid
1 in the mixture, in terms of volume, is

85
70
75
80

HpwnpRE

Q.89 Ifa+ ,+a+...+a =3(2”+1—2), forevery n>1 then a, equals
a n

Q. 90: Consider a function f satisfying f (x +y) =f (x) f (y) where X, y are positive integers,

and f()=2.1f f(a+l)+f(@a+2)+..+f(a+n)= 16(2” —1) then a is equal to
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Q. 91: The number of the real roots of the equation 2 cos(x(x +1)) = 2" + 27%is

1. 2
2. 1
3. infinite
4. 0

Q. 92: Let x and y be positive real numbers such that logs (x +y) + logs (x —y) = 3, and
log,y — log,x = 1- log, 3. Then xy equals

1. 250
2.25

3. 100
4. 150

Q. 93: One can use three different transports which move at 10, 20, and 30 kmph, respectively.
ToreachfromAto B, Amal took each mode of transport 1/3 of his total journey time, while
Bimaltook each mode oftransport 1/3 ofthe totaldistance. The percentage by whichBimal’s
travel time exceeds Amal’s travel time is nearest to

21
22
20
19

PR

Q. 94: Iftherectangular faces of a brick have their diagonals in the ratio 330 35, thenthe
ratio of the length of the shortest edge of the brick to that of its longest edge is

1. J3:2
2. 2.5
3. 1:3
4

. V2:3
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Q. 95: Ifthe population of atownis pinthe beginning of any yearthenitbecomes 3+2pinthe
beginning of the next year. If the population in the beginning of 2019 is 1000, then the
population in the beginning of 2034 will be

1. (997)2% +3
2. (1003)5+6
3. (1003)25-3
4. (997)5-3

Q. 96: Apersoninvested a total amount of Rs 15 lakh. A part ofitwas invested in a fixed
depositearning 6% annualinterest, and the remaining amountwas invested in two other
depositsintheratio2:1,earningannualinterestattherates of4%and 3%, respectively.Ifthe
total annual interestincomeis Rs 76000 then the amount (in Rslakh) investedin the fixed
deposit was

Q. 97: Meenascores 40%in an examination and after review, eventhough herscoreis
increased by 50%, she fails by 35 marks. If her post-review score is increased by 20%, she will
have 7 marks morethanthe passing score. The percentage score neededfor passingthe
examination is

70
60
75
80

P wnpE

Q. 98: Inarace ofthree horses, thefirstbeat the second by 11 metres and the third by 90
metres. Ifthe second beatthe third by 80 metres, what was the length, in metres, ofthe
racecourse?

Q. 99: The number of solutions to the equation | x | (6x2 +1) =5x%is
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Q. 100: The product oftwo positive numbersis 616. Ifthe ratio of the difference of their
cubes to the cube of their difference is 157:3, then the sum of the two numbersis

58
50
95
85

»wn P
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Answer
Keys

Questio Answer Questio Answer Questio Answer Questio Answer
n Key n Key n Key n Key
No. No. No. No.
1 Option: 1 26 3241 51 Option: 1 76 Option: 3
2 Option: 3 27 Option: 1 52 Option: 3 77 3920
3 Option: 2 28 4123 53 Option: 1 78 Option: 2
4 Option: 1 29 3241 54 Option: 3 79 Option: 4
5 Option: 1 30 Option: 2 55 5 80 9
6 Option: 1 31 Option: 2 56 Option: 1 81 13
7 Option: 2 32 Option: 4 57 Option: 1 82 Option: 4
8 Option: 4 33 2 58 5 83 Option: 3
9 Option: 3 34 2 59 2 84 Option: 4
10 Option: 3 35 1 60 6 85 Option: 2
11 Option: 2 36 9 61 Option: 2 86 Option: 3
12 Option: 2 37 7 62 Option: 3 87 10
13 Option: 2 38 6 63 Option: 2 88 Option: 4
14 Option: 2 39 Option: 1 64 Option: 1 89 6144
15 Option: 3 40 Option: 1 65 Option: 3 90 3
16 Option: 3 41 Option: 3 66 Option: 3 91 Option: 2
17 Option: 1 42 Option: 1 67 Option: 2 92 Option: 4
18 Option: 2 43 Option: 1 68 Option: 1 93 Option: 2
19 Option: 3 44 Option: 4 69 20 94 Option: 3
20 Option: 4 45 Option: 1 70 Option: 1 95 Option: 3
21 Option: 2 46 Option: 3 71 Option: 4 96 9
22 Option: 1 47 Option: 3 72 2 97 Option: 1
23 Option: 1 48 Option: 4 73 Option: 3 98 880
24 Option: 2 49 Option: 2 74 Option: 2 99 5
25 2341 50 Option: 3 75 Option: 2 100 Option: 2
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